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The booklet contains OMR sheet and having two
seals. Candidates will first open the booklet by
removing the seal at the top to get the OMR sheet.
Second seal will be removed two minutes before the
commencement of the examination.

Before starting the Examination, the candidate must
write her/his Roll Number in the Question Booklet
and the OMR Answer Sheet; in addition to putting
signature at the places provided for the purpose.

This Question Booklet consists of this cover page, and
a total 120 items. Use Blank pages available at the
end of Question Booklet for rough work.

There are four alternative answers to each item
marked as (a), (b), (c) and (d). The candidate will have
to select one of the answers that is considered to be
correct by her/him. S/he will mark the answer
considered to be correct by filling the circle.

Use black/blue ball point pen to darken the circle.

See the following illustrations.
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The Correct answer of item 1 is (a), which should be
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Half filled, faintly darkened, ticked or crossed circles
will be read as wrong answers by the optical scanner
and will be marked as incorrect.

The OMR Answer Sheet must be handed over to the
invigilator by the candidate before leaving the
Examination Hall.

Keep OMR Sheet straight. Do not fold it.

All questions are compulsory, each question carries
one mark.

Use of calculator/mobile/any electronic item/
objectionable material is NOT permitted.
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56.

57.

58.

59.

60.

Aaditya can make 50 cakes in 25hours,
Aaditya and Arnav together can make 75
cakes in 15 hours.How many cakes Arnav can
makein 15 hours ?

a. 25
b. 45
c. 20
d. 10

If 7 spiders make 7 webs in 7days, then 1
spider will make 1web in how many days?

a. 1
b. 7/2
c. 7

d. 49

Which of the set of three sides can't form a
triangle?

a. S5cm,6cm,7cm

b. 5cm,8cm, 15¢cm

c. 8cm,15cm, 18 cm

d. 6cm,7cm, 11 cm

A point P lying inside a triangle is equidistant
from the vertices of the triangle. Then the
triangle has Pas its:

a. Centroid

b. Incentre

c¢. Orthocentre
d. Circumcentre

If angles of measure (5y + 62°) and (22° +y)
are supplementary, then value ofy is:

a. 16°
b. 32°
c. &8°
d. 1°
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Q.61

a)
b)
c)
d)

Q.62

The binding of one CO molecule to
haemoglobin increases the affinity of the other
binding spots for oxygen, leading to

shift of dissociation curve:

Right shift

Left shift

Does not affect

None of the above

Which one is critical vital organ responsible
for xenobiotic metabolism and excretion in
humans:

(a) Kidney
(b) Lungs
(c) Brain
(d) Pancreas

Q.63  Match the following
Group A Group B
(a) Myeline sheath 1. Node to node action
potential.

(b) Hyperventilation
(c) Saltatory conduction

ii. Impulse transmission.
iil. Respiratory alkalosis.

(d) Essential hemopoiesis iv. Holding the dumbbell

e) Isometric contraction

a)
b)
c)
d)

Q.64
a)
b)
©)
d)

Q.65
a)
b)
c)
d)

Q.66

a)
b)
c)
d)

site in infants in a constant position.
v. Liver

a-ii, b-iii, c-1, d-v, e-iv.

a-1, b-iii, c-ii, d-v, e-iv.

a-ii, b-i, c-1v, d-v, e-iii.

a-i, b-ii, c-1v, d-v, e-iii

Prolactin hormone:

Helps in uterine development.

Helps in endometrial development.

Is a steroid-protein hormone

Helps in lobuloalveolar growth of mammary
gland.

Insulin hormone:

Useful in treating type-2 diabetes, only
Secreted from alpha cells of pancreas
Useful in treating Type-1 diabetes.
Helps in lipid metabolism

Rumen microbes of ruminant animal helps
in:

Excretion of toxic metabolites

Increase in minerals excretion

Digestion in small intestine

Production of fatty acids and fibre digestion
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Q.67

Q.68

Q.69

Q.70

Q.71

Q.72

Q.73

Double respiration present in:
Reptiles

Ruminants

Birds

Rats

Which are the following indicates desert
adaptation:

Production of concentrated urine
Low sweating

Small kidney

Short Loops of Henle

Goat Meat is called
Mutton

beef

Cara Beef

Chevon

Acrosome part of mature spermatozoa is
derived from:

Centriole
Golgi bodies
Mitochondria
Nucleolus

Vasopressin is released from:
Hypothalamus

Anterior Pituitary gland
Posterior Pituitary gland
Thyroid gland

Which Peptide mimics morphine like action:
Oxytocin

Endorphin

Adrenocorticotropin (ACTH)

Vasoactive peptide

The circadian rhythm and synchronization of
the sleep-wake cycle will be regulated by:
Melatonin

Acetylcholine

Endorphin

Serotonin
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Q.74

Q.75

Q.76

Q.77

Q.78

Q.79

During an allergic immune response,
histamine is released from:

B lymphocytes

T lymphocytes

Mast cells

IgE secreting Lymphocytes

Major immunoglobulin found in the colostrum
of milk in mothers:

IgG
IgM
IgD
IgA

The largest secondary lymphoid organ is:
Spleen

Thymus

Mucosal Associated Lymphoid Tissue
Lymph Nodes

Which drug is used for selection of hybridoma:
Neomycin

Tetracycline

Aminopterin

Actinomycin D

Which of the following leukocytes is present in
highest number in the human blood:

Neutrophill
Eosinophill
Basophill
Macrophage

Which one of the following functions is not
effected by the plasma proteins:

Blood Clotting

Oxygen Transport

Hormone Binding and Transport
Buffering capacity of blood

Q.74

Q.75

Q.76
b)
9)
d)

Q.77

a)
b)
©)
d)

Q.78

Q.79

b)
¢)
d)
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Q.80

Q.81

Q.82

b)
¢)
d)

Q.83

Q.84

Q.85

b)

c)
d)

In which of the body fluids K* concentration
is higher than Na":

Plasma

Perilymph
Endolymph
Cerebrospinal Fluid

Major Gluconeogenesis can occur in:
Liver and kidney

Liver and heart

Liver and skeletal muscle

Liver and adrenal gland

Metabolic acidosis causes:

Increase pH in stomach

Hyperventilation

Increase protein digestion in small intestine

Increase acid production in stomach

Tidal volume in each respiratory cycle of
humans is:

400-500ml
100-200ml
1000-1500ml
50-100ml

This substance cannot pass through
semipermeable walls of glomerulus:

Globin
Albumin

Blood cells

All of the above

During digestion the lymphatics of the intestine
become filled with fat globules which give
white colour to the lymph. This lymph is known
as:

Haemoconia
Fluid plasma
Bilirubin
Chyle
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Q.86
b)
c)
d)

Q.87

Q.88

a)
b)

c)
d)

Q.89

Q.90

Q.91

Animals eating own faecal matter are:
Sanguivorous

Frugivorous

Coprophagous

Deteritivorous

Epithelial tissues are arising from
Ectoderm

Endoderm

Mesoderm

All the above

Osteoblasts increase matrix in bones. This

process is called
Metaphysis
Osteogenesis
Diaphysis

Osteoclasts

Vitamin that is exclusively of animal origin is:

Vitamin B,,
Vitamin B,
Vitamin B,

Vitamin B,

The intensive animal farming is:
Industrial livestock production
Factory farming

Both aand b

None of the above

Which is a dual purpose breed of cattle:

Amrit mahal
Red Sindhi
Khillari

None of the above
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Q.92

b)

c)
d)

Q.93

Q.94

Q.95

Q.96

Q.97

A cattle with a prominent hump:
Is more powerful than others
Gives more fat

Gives more milk

None of the above

Vomiting is rare in:
Horse

Dogs

Pigs

Ruminants

Inbreeding increases:
Heterozygosity
Homozygosity
Hybrid vigour

Non-relatives

One molecule of haemoglobin can transport
how many molecules of oxygen:

One
Two
Three

Four

In-vitro maturation time for bovine oocytes is:
18h
24h
72h
42h

Among the components of coagulation
pathway, what is factor I1:

Fibrinogen
Prothrombin
Thromboplastin

Calcium ions
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Q.98 Calcium deficiency in ruminants is known as:
a) Milk fever
b) Grass staggers
c) Teartness
d) None of these

Q.99 Chromosome number of camel (2n) is:
a) 72
b) 62
c) 74
d) 86

Q.100 Circadian rhythm is regulated by the:
a) Paraventricular nucleus
b) Suprachiasmatic nucleus
¢) Amygdala
d) Basal

Q.101 Which blotting technique is used for the
detection of DNA that has been separated from a
mixture of DNA restriction fragments by
electrophoresis through an agarose gel and then
transferred onto a nitrocellulose sheet:

a) Easternblotting

b) Western Blotting
¢) Southern Blotting
d) Northern Blotting

Q.102 Name the non-essential amino acid:
a) Lysine
b) Leucine
c) Serine

d) Methionine

Q.103 Which of the following signal molecule is NOT
used for extracellular signaling:

a) Autocrine
b) Endocrine
c) Paracrine
d) CyclicAMP
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Q.104

b)
c)
d)

Q.105

Q.106

Q.107

b)
c)
d)

Q.108

Q.109

Which is the largest family of cell surface
receptor:

GPCR
Ion-channel receptor
Enzyme-linked receptor

Nuclear receptor

In SDS-PAGE, protein sample is first treated
with detergent sodium dodecyl sulfate (SDS),
in order to:

Make the protein become negatively charged
Make the protein become positively charged
Renature the protein

Adjust the pH of protein

Which of the following enzyme works in the
nucleotide excision repair:

DNA photolyase
ABC exinuclease
DNA glycosylase
RecA

Name the part of chromosome where t-loop is
found:

Acromere
Centromere
Telomere

Tetraplex

Which of the following transport involves
translocation of protein from cytosol to the
nucleus:

Non gated transport
Vesicular transport
Transmembrane transport

Gated transport

Name the class of immunoglobin having
pentameric structure:

IgG
IegM
IgA
Igh
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Q.110

a)
b)

c)
d)

Q.111

d)

Q.112

Q.113

Q.114

d)

Genetic information stored in mRNA is
translated to polypeptide by :

Ribosome
Nucleus
Endoplasmic reticulum

Golgi apparatus

Interleukin-1 is an inflammatory cytokine
that has the following function:

Inflammation
Leukocyte adhesion

Inducer of acute phase response and
lymphocyte activation factor

All of the above

Crossing over occurs in which phase of
meosis:

Prophase I
Prophase I1
Metaphase |
Anaphase 11

The type of restriction enzymes used in
rDNA technology is:

Type 1
Type II
Type III
All of these

Which of the following types of DNA
polymerase has 3' — 5'activity:

DNA polymerase I
DNA polymerase 11
DNA polymerase I1I
DNA polymerase [V
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Q.115

Q.116

Q.117

Q.118

The class of cytokine receptors utilizing G-
protein coupled receptors for its downstream
function are:

Interferon receptor
Hematopoietic receptor
Chemokines receptor
None of the above

Cytokines recognize and engage with their
receptors for biological action. Which of the
following is the correct sequence of high-
affinity to low-affinity interactions:

Antibody> MHC > Cytokine
Cytokine > Antibody > MHC
MHC> Antibody > Cytokine
None of the above

Hybridoma technology is used to
produce :

Interferons
Monoclonal antibodies
Antibodies
Antibiotics

Name the repair system which involves the
removal of the damaged segment of DNA:

Recombinational repair
Direct repair
Excision repair

Mismatched repair

Q.119 Match the following RNA polymerase with
their transcribed products:
(a) RNA polymerase | (1) tRNA
(b) RNA polymerase 11 (i1)) rRNA
(c) RNA polymerase I11 (ii1) hnRNA
a) a-1i, b-iii, c-ii
b) a-i, b-ii, c-iii
¢) a-iii, b-ii, c-1i
d) a-ii, b-iii, c-i
Q.120 Mention the mobile electron carrier in the
mitochondrial electron transport system:
a) NADH dehydrogenase
b) FADH dehydrogenase
¢) Ubiquinone
d) Succinate dehydrogenase
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